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without doing long division tell whether 13/3125 is terminating or non - terminating. (1)

2.5 g miufole B 3 |- (At /a133)

\5 is a irrational number. ( true / false) (2)
3. J& I3 TR U ET x M3y TH U™ | Find ' x ' and 'y' in the following factor tree. (2)
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3. HCF (306,657) =9 f&37J | LCM (306,657) U3T a3 |

If HCF (306,657) = 9. Find LCM (306 , 657) . (2)
4 Ffgmret 6, 72, M3 120 T M3 JIeays< fedt Idf HCF M3 Lo u3Tad |

Find HCF and LCM of 6, 72 ,and 120 by using prime factorisation method . (2)
5. M3 JSHUIS fedt eMaT 96 M3 404 T HCF USTad M3 feg fer e LCM U3Tad |

Using prime factorization method find the HCF of 96 and 404. Also find its LCM. (2)
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